W59 =HhILT—24 / Technical Datall

##{thJLY / Recommended torque

M2.5 : 0.15N*m ~ 0.2N"m

F view
H4F / Product Number
e C I e I e N A I B N e B
HT ik W& Dtz R R/A  ERP/H B
H dimension W dimension D dimension Feet (Ror A) Screw (P or H) Color Type

ALk / Feet specification

ERE R4E#E / Original trapezoid head screw specification

M3.M4 : 0.3N*m ~ 0.6N*m

R NZA / Components

No. & ¥ / Part name = / Pcs B / Material & - REWE / Color+Finish
| a—F—Javy 4 TILEH A F ¥ X ADC12 DIN—, TFvY - Bk (RERRLIE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) AR ) T ILEHHH A6063S-T5 DIVN—- B (NERRALE)
Frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
3 IL—L4 4 T ILEHHH A6063S-T5 D ILN— B (R ERELEE)
Panel support frame Extruded aluminium A6063S-T5 Silver - Painted (Unfinished inside)
. At ) 7 LEHR A1100P DILN— R (REEBNE)
Panel Aluminium A1100P Silver - Painted (Conductive inside)
5 HiN— | 7 JLEHR A1100P DN— B (RELENE)
Top cover Aluminium A1100P Silver-Painted (Conductive inside)
6 This— . 7 JL2HR A1100P DN— B (RELBNE)
Bottom cover Aluminium A1100P Silver - Painted (Conductive inside)
JLE TPE (TZRHR) I3vYy
7 Ruber feet 4 TPE (Elastomer) Black
TR PRI R == VIIN—T LA & TFVH
Aluminium feet Aluminium & Silicone Silver*Anodized & Black
8 EMCY—ILRH R 16 LB (ULI4V-0) A yHTL—
EMC shielding gasket Conductive fiber UL94V-0 Metallic gray
9 HRATE R (IMM3 x 8) 16 % SV AV
Screw (Flat head M3 - 8) Steel Nickel plated
10 BAFE R (BZM3 x 5) 1 % UL A
Screw (Trapezoid head M3 - 5) Steel Nickel plated
" BAFE R (/N1 FM4 x 8) 4 Fi3 =Z@E/aA—+
Screw (Bind head M4 - 8) Steel Black trivalent chromate
12 BATE R G&E TFRELEFM25 x 7) 12 % Ty LAY
Screw (Captive pan head M2.5 - 7) Steel Nickel plated

@30 10

® o

© [0

E I L2 / Rubber feet

FILERE / Aluminium feet

[P] 75 / Philips

75A / Hexagon—socket

& 4t4% / Color Type

AHEHIMIFH I 2EREOEIFE SRR INFBIE T E(C)FELET. / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

i85 / Code | 2—3—JAv% / Corner block {8I#R / Frame X2 / Panel $173— / Top cover T#/3— / Bottom cover
S'S < JLs3— / Silver 2 JL1N— / Silver > JLsN— / Silver < )L/SA— / Silver < JLs3— / Silver
S B 7594 / Black < JL/3— / Silver < )Ls3— / Silver < )L/3— / Silver < JL/3— / Silver

% /Title
TAKACHI| XS FERTE IRRILBEEMCY — LR —R @ Il |I
TAKACHI ELECTRONICS ENCLOSURE CO,, LTD. EMC SHIELDED ENCLOSURE with DETACHABLE PANELS
#2/Approved #R[X/Checked #[X]/Created FI & /Product number RBE/Scale
AUPES88-43-500 -0 —
iR X ~R—2 /Page
{ERZ B /Date 2022/12/29 177




D view

453

E view

A view

88+£0.3

F view

)

fo

W,

U

430+ 0.8

!<—A

o

ffo

W

U

A-A(1:7)

C-C(1:7)

C view

486

500+ 0.8

423

B view

L1

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

md/Title
INRILERBEMCY — LR — R
EMC SHIELDED ENCLOSURE with DETACHABLE PANELS

o]

A& 8/ Approved

iR

1% [X|/Checked #IX]/Created

ES ¥t

R /Product number

AUPE88-43-50101-[101

RFE/Scale
1:7

{EBL B /Date 2022/08/24

~R— /Page

2 /17




C fAl#x / C Frame

5 2-M3RHYSR M3 5

2-M3 Countersunk
X R EBEHE / Same on the other side.

450 225
o™
5 S ”
8 | 25
": o™

R / Front side 251 / Back side

D {8l#% / D Frame

i ]
L I —

2@ / Front side ZEME / Back side
. G/ Title
TAKACHI) #XaitahFElTE B O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
SB/Approved | #2E/Checked BUR/Created | Z1%/Product number RE/Seale
H88 - D500 1:35
iR E3 B4t =/ Page
1R B /Date 2022/07/20 3/ 17




16

225

356

e
©
E==§
3-M2.5
380
| <
%) 2 -
12 i

2-M3FHS7%

2-M3 Countersunk

M3

£t47K / Total 4 pieces

[TAKACHI) #t&itshFBHTYE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4/ Title
TL—L

Panel support frame

o]

7R/ Approved

iR

%[/ Checked R/ Created

ES A

FIF /Product number

W430

RE/Scale
1:2

{ERL B /Date 2022/08/08

~R—/Page

4 /1




A /N2RJL / A Panel

379.5 3.5 2

356

™
o
H
«©
<
T [ T o = (]
I ° 0
~ é REE—HMAI o
\‘ J ~ Surface protective film side EH
&2 & £ # i) @ o
1
R
¥tk / Max dim. 372+ 05 T
6-M25FAZILRY—T
6—Metal sleeve for M2.5
R / Front side 251 / Back side
B /N4 JL / B Panel
l—‘ REE—HMAI E“
J Surface protective film side EH
K / Front side 221 / Back side
R4/ Title
TAKACH) #=t&#5hF BHTH R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
SB/Approved | #2E/Checked | #.K/Created | ZU%/Product number RE/Scale
H88 - W430 135
iR T (320 T /Page
{ER B /Date 2022/08/08 57/ 17




4-R14.7
<

; o
8 5

R / Front side

419.4

400

B#~ti% / Max dim. 383+ 0.5

8-@4.5

<Ti% / Max dim. 453+ 0.8

2

|

2
I3 o\
REE—MMAI
Surface protective film side
& &
ZEME / Back side
R4/ Title @
-_TAKACHI BRRUINTFERITE HIN— C
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
758/Approved | 1&R/Checked | BUE/Created | Z%/Product number RE/Scale
W430 - D500 14
[==F )] X [523) ~R— /Page
{ER B /Date 2022/07/20 6 / 7




4-R14.7
< o x
g 5 3

M@ / Front side

4194
400

371.4

E#h~Ti% / Max dim. 383+ 0.5

8-@45

Bt iE / Max dim. 453+ 0.8

4-M4

REEL— M

Surface protective film side

2@ / Back side

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
Th—

Bottom cover

o]

738 /Approved

iR

%[/ Checked

T

#[/Created

A

24 /Product number

W430 - D500

RE/Scale
1:4

YERL B /Date 2022/07/20

~R—/Page

771






